Question -

Ans-C
Solution -

If some three consecutive coefficients in the binomial
expansion of (x+ 1)" in powers of xare in the ratio 2 : 15:
70, then the average of these three coefficients is

(2019 Main, 9 April 1)
(a) 964 (b) 227 (©) 232 d) 625
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According to the question, we have

"C,,:"C.:"C,. ,=2:15:70
nc_
Now, r-1_ 2
"C, 15
n!
r-Dn-r+1)! 2
n! 15
rl(n —r)!
r 2
= —  =—=15r=2n-2r+ 2
n-r+1 15
=  2n-17r+2=0 (@)
n!
n (1 — 1)!
Similarly,——~r =12 o rie=nt _3
e, 70 n! 14
r+D!n-r-1)!
- rtl S 4rt14=3n-3r
n-r 14
= 3n-17r-14=0 ...(11)

On solving Egs. (1) and (11), we get

n—-16=0=n=16and r=2

lﬁcl + 1682+ 1603
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_ 16 + 1230 + 560 _ 626 -939

Now, the average =




